Precision Instrument Pipe Fittings

CNP Close Nipple (male NPT both ends)

4CNP -1 Va 1% %2 5700 9900 AT
6CNP - [] % 7% % 5500 9000 i %
8CNP -[] % 1% sq 5400 8900
O
12CNP - [1] % 1% % 4600 8300 M\ DN
A =

NP Hex Nipple (male NPT both ends)

INP-[] Yis s Y She 7100 12,300 .
2NP - [] Y 1752 e The 7100 12,300 ,.--'"F'"Ex
4NP - [] % " % %6 5700 9900 . 4
6NP - [] % 1% % Wi 5500 9000 w&\\\m
8NP - [] ) 2 %52 7 5400 8900 R %
12NP -] % 2 % 16 4600 8300 N “\\M@\_\\\\\\
18NP - [] 1 2% 7 1% 3400 5900 :

A

RNP Hex Reducing Nipple (male NPT to reduced male NPT)

2RNP1 - [ ] Yie e  ¥m " 7100 12,300
4RNP2 - [] Ya Y 1% % %6 7100 12,300 b
6RNP4 - [] Y Va A Y2 W 5700 9900 /
8RNP4 - [] 1 Va s % 7% 5700 9900
8RNP6 - [] v % e % % 5500 9000
12RNP6 - [] % % 2% % 16 5500 9000 R \\\; - T
12RNP8 - [ ] % A 1% e  1he 6200 10,100 m—
16RNP8 - [ ] 1 A 2% e 1% 6200 10,100
16RNP12 - [] 1 % 2% % 1% 4600 8300 A—— =

LNP Hex Long Nipple (male NPT both ends)

2LNP -[1/200 e e 7100 12,300
2LNP - [1/250 Ve 2 %e e 7100 12,300
4LNP -[1/200 Va 2 32 %e 5700 9900
4LNP -[1/250 Va 2, %32 %e 5700 9900
4LNP -[1/300 Va 3 %32 %e 5700 9900
4LNP - []/400 Va 4 32 Y%e 5700 9900
6LNP - []/200 Y8 2 e e 5500 9000
6LNP - [1/250 8 2 e e 5500 9000
6LNP - []/400 ¥8 4 e e 5500 9000
8LNP -[]/300 Va 3 78 78 5400 8900
12LNP - [1/300 ¥4 3 e e 4600 8300
16LNP - [1/300 1 3 1% 1% 3400 5900
16LNP - [1/400 1 4 1% 1% 3400 5900





